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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 6.45|MH/kWh
(1) BR¥ & R B = (FY PRIl —37,200M) x Z#EE{fi—1,000 = 3.33|M/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.4699 HAEE 0.197 [
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.0000
C: tHI-YDTEHRRME 22,606 M Y 0.7879
EHREMER = Axa +Bx S8 +VXy = 54100 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 1.58)F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 16.05 MADIN7ZISAREYIE 13.44
B: EJTIAEREEEM (Fiik) 8.00 BEkE 7.9%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.54|M/kWh
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cu

DBEYEBHSELET

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 6.66 |/kWh
(1) BA¥ & R Bl = (FY PRIl —31,400M) x ZL#EB{fi—1,000 = 4.24]M/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.1152 HAEE 0.221 M
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.2714
C: tHI-YDTEHRRME 22,606 M Y 0.7386
EHREMER = Axa +Bx S8 + VX ¥y = 50,600 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 0.88]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 15.15 MADIN7ZISAREYIE 12.60
B: EJTIAEREEEM (Fiik) 7.00 BEkE 8.5%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.54|M/kWh
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anj
cu

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 7.48|M/kWh
(1) BR¥ & R E = (FY ARl —44,200) x ZL#EB{fi 1,000 = 4,06 /kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.1970 HAEE 0.232 [
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.4435
C: tHI-YDTEHRRME 22,606 M Y 0.2512
EHREMER = Axa +Bx S8 +VXxy = 61,700 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 1.88)F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 16.45 MADIN7ZISAREYIE 13.92
B: EJTIAEREEEM (Fiik) 7.00 BxE 6.9%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.54|M/kWh

Uk
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cu

DBEYEBHSELET

FIrcImiz

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 6.46 |H/kWh
(1) BR¥ & R Bl = (F PRIl —45,900/) x ZL#EB{fi—1,000 = 2.33|M/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.0275 HAEE 0.233 M
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.4792
C: tHI-YDTEHRRME 22,606 M Y 0.4275
EHREMER = Axa +Bx S8 + VX ¥y = 55900 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 2.59| M /kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 16.36 MADIN7ZISAREYIE 13.82
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.54|M/kWh

Uk
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FREIBANDITEREHY . EHILBLETEYS,
BADBIHEICSFTNIRHMEFHBEME. TELOBYSHSELET.
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cu

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+AHBRENHERBE = Fid 5.89|F/kWh
(1) BRR B B 2 Bl = (2R BHEi4% — 21,900 ) x BB {fi 1,000 = 3.49|F/kWh
202448 F ~2024F 10 A FH D E B sHil+E
A: 1KY O FH R im g 77,129 A o: 0.2303 i 0.161 M
B: 1t&H =Y DT HLNGIEE 92,099 A B: 0.0000
C: 1tH1=Y DA Fifhits 22,606 A Y 1.1441

EHREMER = Axa +Bx S8 + VX y = 43,600 H (100 KEFEEERAN)

Q) BEA-N—YIIL—ERFAREEE= (HETHREMEE —0M) x A -1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M B: 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.86]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 14.11 BADOIYTTSAREYIE 11.83
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.8%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.54|M/kWh

Uk



BEAEEATUTIIEE] gremz
NYa1—T52 TN TSULNDEESE
20255 1A% BREFHREBEM@OSMLHE R LRIST—

THRHAOBEERY ., EEILALETFET,
WA OBEHSICEENIMBESAREME, TROBYVSHSLLES .

anp
cu

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+HEENHEHIBEE= RHD15kWhET BisA 91.14 M
LS oA 6.08 M /kWh
(1) R B AR = (TR FHEHE —27,100M) x E#EH{fi 1,000 = YD 15kWhE T 55.44|F
202448 F ~2024510 A FHD & S #faHil+E EEELS 3.70|F1/kWh
A: 1kI&HT=Y O F R B 77,129 A o 0.0140
B: 1t&H71=YDFHLNGIHEE 92,099 M B: 0.3483 ~15kWhEL £ B4 {f 2475 [
C: 1tHT=YDFEYH MK 22,606 M Y 0.7227 16kWh~ £t B 0.165 [

TEHEREMER = Axa +BX 8 +VXxy = 49500 (100MKHMIERA)

QBEI-_/N\—Y LY —ERFEETE= Gt ST HREHEE —0M) x HZEB{H 1,000 = 0.00JF4/kWh

202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H a: 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M B: 0.0000
C: 1tHf=Y DEH A RME 22,606 [ Y 0.0000

EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)

Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh

A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 0.84|M/kWh

A: BTADIYTTSAREHE-(1-18KFE) x FEER 14.09 MADIYTTSAREY(E 11.81
B: EITIAEEAEEE (Fiik) 5.00 P 7.8%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%

@) FENHEEIBEE 1.54]F/kWh

ULt
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cu

BT Y LR/IRT—

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= YD 15kWhET Biaa 109.22 A
Lt A 7.27 M /kWh
(1) PR¥ B SRR Bl = (SEH AT #E —26,000M) x A =1,000 = BHD15kWhET 73.97|H
202448 A ~2024F 10 £ D E 5K EHEHE LEE LS 4.92|F/kWh
A: 1kIHT=Y O F R ih il 77,129 A 0.1543
B: 1tH1=YDTFHLNGIEE 92,099 M 0.1322 ~ 15kWhEL 25 B {ff 3.680 M
C: 1tHT=YDEHE &M 22,606 M Y- 0.9761 16kWh ~ L £ B {ff 0.245 [
EHREMER = AXxa +BX S8 +VXy = 46,100 H (100MKHMIERA)
Q) BEI—/N\—Y LY —E RFEEIE= Bt & TR EHEE —0M) x EZEB{fi < 1,000 0.00} M /kWh
202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M 0.0000
C: 1tHf=Y DEH A RME 22,606 M e 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 0.81)M/kWh
A: BTADIYTTSAREHE-(1-18KFE) x FEER 14.05 MADIYTTSAREY(E 11.79
B: EITIAEEAEEE (Fiik) 5.00 P 7.7%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%
@) FENHEEIBEE 1.54]F/kWh

ULt
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FICITS

BT Y LR/IRT—

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= ZYD15kWhET BN 58.08 M
Lt A 5.28 M /kWh
(1) PR¥ B SRR Bl = (SEH AT #E —26,000M) x A =1,000 = BHDIKWhET 41.14|H
202448 A ~2024F 10 £ D E 5K EHEHE LEE LS 3.74| [ /kWh
A: 1kIHT=Y O F R ih il 77,129 A 0.2104
B: 1tH1=YDTFHLNGIEE 92,099 M 0.0541 ~11kWhEL 2 B {f 2.154 @
C: 1tHT=YDEHE &M 22,606 M Y- 1.0588 12kWh ~ L £ B4 {fff 0.196 M
EHREMER = AXxa +BX S8 +VXxy = 45100 M (100MKHMIERA)
Q) BEI—/N\—Y LY —E RFEEIE= Bt & TR EHEE —0M) x EZEB{fi < 1,000 0.00} M /kWh
202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M 0.0000
C: 1tHf=Y DEH A RME 22,606 M e 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 0.00} M /kWh
A: BTADIYTTSAREHE-(1-18KFE) x FEER 11.30 BADIYTISAAEYIE 9.44
B: EITIAEEAEEE (Fiik) 5.00 P 8.1%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%
@) FENHEEIBEE 1.54]F/kWh

ULt




AMEHTYTEE]
IN)1—=TFS50 VUTNTSULUNDERSE

20255 1A% MBEEFREE@OSHMSE

FREIBANDITEREHY . EHILBLETEYS,
BUADBIHEICEFTNOIRMEFHBEME. TELOD

anj
cu

DBEYEBHSELET

Ereme

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B
+AORENHERIBE = Bid

(1) PRE B BBl = (R EHEAE —27,400M) x EEEB{H 1,000 =
20248 A ~2024FE10 A FHDE S sHmE

F/kWh

1.97

F/kWh

EAE B

0.136 M

A: 1KY O FH R im g 77,129 M o: 0.0053
B: 1t&H =Y DT HLNGIEE 92,099 M 0.1861
C: 1td1=YDFEH A ERMHE 22,606 M Y 1.0757
FEHRRFMER = Axa +BXB +VXy =41900H  (100AXREMEERA)

(2) BB —/N\—Y )L Y —E R E fi = (B & F R #HI 4% —52,500) x E 3£ B {fi — 1,000

20248 A ~2024FE 10 A FHDE S sHmE

0.07

FM/kWh

EAE B

0.003 M

A: 1KY O FH R im g 77,129 M 1.0000
B: 1t&H =YD FHLNGIEE 92,099 M 0.0000
C: 1td1=Y DFEH A R 22,606 M Y 0.0000
S TFHMRFMER=AXxa +BX B + VX y=77100 F  (100AK&EMEERA)

Q) HENFARZREM=A<BDEE. HEHFAREM=(A—B) XD x(1+HE&FZHK)
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK)

0.00

0.00

A: BTADIVTISARFEHE-(1-1843H) x HER 12.83
B: ZEITiAEEEEM (Fiik) 5.00
C: BMFHEEAEEM (Fik) 13.00
D: #EEE 70%
4) REHEAIREE

MADIN7ZISAREYIE

BxE

3z

Ex

FM/kWh
FM/kWh

10.66

8.6%

110%

1.54

F/kWh

Uk




